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Exercise 1

The Fourier pairs f(x) and F (s) are defined as follows:∫ +∞
−∞ f(x)e−2πixs dx = F (s): F{f(x)} = F (s), the Fourier transform of f(x) and∫ +∞
−∞ F (s)e2πixs ds = f(x) : F̂{F (s)} = f(x), the inverse Fourier transform of F (s)

a) show that: F{a(f(x)) + b(g(x))} = aF{f(x)}+ bF{g(x)}

b) show that: F{f(x− a)} = e−2πiasF (s)

c) show that: F{f(ax)} = 1
|a|F (s/a)

Exercise 2

Compute the Fourier transforms (definition in Exercise 1) of:

a) δ(x)

b) δ(x+ a)

c) e−x
2π

d) 1
2
{δ(x+ 1

2
) + δ(x− 1

2
)}

e)
∏

(x), 1 for |x| < 1
2
a, else 0

Exercise 3

Show that F{df(x)
dx
} = 2πisF (s)

Exercise 4

The 2D Fourier pairs f(x, y) and F (u, v) are defined as follows:∫ +∞
−∞

∫ +∞
−∞ f(x, y)e−2πi(xu+vy) dxdy = F (u, v): F{f(x, y)} = F (u, v), the Fourier transform of

f(x, y) and∫ +∞
−∞

∫ +∞
−∞ F (u, v)e2πi(xu+vy) dudv = f(x, y) : F̂{F (u, v)} = f(x, y), the inverse Fourier trans-

form of F (u, v)

Compute the 2D Fourier transforms of:

a) δ(x, y)

b) δ(x− a, y − b)


